XL3 800/4000

373 20/22/23 L|I1 I e gr an d®

37320

X2 x4 4xM6 4 xM6 x4 4xM6 4xM6| 4xM6 x2 X 2

3
XL" 4000 P=975/725

55 =l c
il =
===, RS
L oA ) il l ==2g
N §4 e e o
P=475 =" o0 . : 7

P =975/725/475
.

XL® 800

—

041 597/01-B




XL 4000

3 _*
P =975 -> 20552

P =725 -> 205 51

P =725 -> 205 52 P =725 -> 205 52

P =975 -> 20553 P =975 -> 20553 <<
37323

/ 1 7 = /
1 1 = = = / = A1

> ,4—%

\
A\
A\N
X

0o
T\
\
D\ T
\\

-
= ';”:%\Elllll
= eI 373 20
A L=725 -> 20552 /’% P =975 -> 20553
L =975 -> 20553 = P =725 -> 20552

P =975 -> 205 52
P =725 -> 205 51

373 22

L =725 -> 205 52

L =975 -> 20553

> . L L3 3§ 8
= i

- d
L~ ,/7 | 2~ //7 P /7

‘ L=725/975

041 597/01-B




g-10/.6S L¥0

975 — 205 52
725 —> 205 51

75/725

A PFfL//4

373 22

=

g7/ 7
P ‘i/'

725

P




g-10/.6S L¥0

37320

975 —> 205 53
—> 205 52

725

P
P

TH




‘ 373 22

63x5 M6x115 M6x 160

P =975

ceceeccccaceaan

041 597/01-B



1728 37323

F’iﬁ'

o
O
X%
ol _>

50x5
63 x5 M6x115

475

L

T — 7

|

Lo

gﬁ'

|

Iﬂll |IIIIJ|I [TTI

k
E:
3

o
20°,¢ L 9]
QQ 0
ol —

75x5
80 x5 M6x 160

100 x 5

—

P00 Ve

041 597/01-B



373 22

63 x5

M6x115

eccccacscscracand
é

041 597/01-B




37322

L=975

L=725
P = 975/725/475 rf~—*] o
‘/ T

L=975->20553
L=725->20552 | |

755
63x5 M6éx115| oo° o M6x160
100x 5
L=725 L=47 L=97
P= 975/725/47‘%4_5. r_# \‘L 37320
_| 1111 _—-l-—- B —1_._‘—-_7
[ U [ U [ U
[ 15 [ 15 [ 15

L=975->20553
L = 725 —> 205 52 ..1

&

L=975
L=725

L =475

041 597/01-B



g-10/.6S L¥0

373 22

=,

= AN
3

N\
\

S

=z
o
—

975 —> 205 23/53
725 —> 205 22/52

975
475 —> 205 21/51\
N
.‘/
>

475 |

[E
I
I
L
L
L
L

I

I

I
=725

L

975/725/475

P




g-10/.6S L¥0

XL® 800

o 00’0 0 00000 O0OOOGOO OO
O 0/O O OO OO OOOOOOO OO0 ¢

)
o DO O OO0 OO0 O0O0O0O0 OO0 O 0 O
¢ OO O O O 0O OO O OO OO O O

ﬂ e\
] p]

:ﬂl

10



373 20 373 22/23
e %
02 02
1(A) 1(a) 1(n)
0| £ 0 = &
Al NN
IP<30|IP>30 IP<30|IP>30|IP<30|IP>30|IP<30|IP>30|IP<30|IP>30
25x5 330 270 50x5 700 630 430 350 | 1150 | 1000 | 650 510
32x5 450 400 63x5 800 700 513 400 | 1350 | 1150 | 770 590
50x5 700 630 75x5 950 850 600 475 | 1500 | 1300 | 890 700
63x5 800 700 80x5 1000 | 900 630 500 | 1650 | 1450 | 940 740
100x5 | 1200 | 1050 | 750 580 | 1900 | 1600 | 1120 | 900
37320
o’o‘”.o'o o
002
t 374 34 37418 37419 374 40 374 41
i | 18 x4 25x5 32x5 50 x5 63 x5
(mm)
(||:|f g;e;i) D (mm)
10 800 800 900 - -
15 400 600 600 700 800
20 300 450 500 600 700
25 250 350 400 500 550
30 225 300 350 400 450
35 200 250 300 350 400
40 175 200 250 275 300
45 150 200 200 225 250
50 150 150 150 200 200
60 125 125 125 150 150
70 100 100 100 150 150
80 - - - - 100
90 - - - - -
373 22/23
t\él? 37440 | 374 41 | 374 59 | 374 43 | 374 46 37440 | 374 41| 37459 | 374 43 | 374 46
L | 50x5 | 63x5 | 75x5 | 80x5 | 100x5 50x5 | 63x5 | 75x5 | 80x5 | 100x5
(mm) (mm)
(ke on k) D (mm) ik on k) D (mm)
10 1000 1200 | 1200 | 1200 | 1200 10 - - - - -
15 800 900 1000 | 1000 | 1200 20 - - - - -
20 650 700 750 750 900 30 700 800 - - -
25 500 600 600 600 700 40 550 600 650 650 700
30 400 500 550 550 600 50 450 500 500 500 550
35 350 450 450 450 550 60 350 400 400 400 450
40 300 350 400 400 450 70 250 350 350 350 400
45 300 300 350 350 400 80 250 300 300 300 300
50 250 250 300 300 350 90 200 250 300 300 300
60 200 250 250 250 300 100 200 200 250 250 250
70 150 200 250 250 250 110 200 150 200 200 200
80 100 150 200 200 200 120 150 150 200 200 200
90 100 150 200 200 200
100 100 150 150 150 150
110 100 100 150 150 150
120 100 100 100 100 100

1

041 597/01-B



